
6760 SERIES LARGE HOOK SPECIAL PARTS
6730 SERIES LARGE HOOK (8mmNEEDLE PITCH) SPECIAL PARTS



6760 SERIES LARGE HOOK SPECIAL PARTS
6730 SERIES LARGE HOOK (8mmNEEDLE PITCH ) SPECIAL PARTS

※ Other spare parts are same as the parts of 6730 series or 6760 series

No. Ref.No. Description Qt Note

1
2

3
4
5
6
7
8
9
10
11
12
13
13-1
13-2
13-3
13-4
13-5
13-6
13-7
13-8
13-9
13-10
14
15
16
17
18
19

20

21
22
23
24
25

26
27
28
29
30
31
32

33
34
35
36
37
38
39
40
41

42
43
44

230G20001
230G21000
217X21000
217100013
230G40004
230G40002
230G40008
BXF3475009
217100043
BXF9973009
S150901003
230G20003
022610003

230G40009
230G40001
B098500574
230G40003
230G40006
230G40005
BXF9886009
BX58105009
B048509694
BXF9885009
230G40007
BXF8259009
BXF8266009
230G50001
217100006
078400003
217X00003
230G72001
217X00002
120720001
022130006
036750006
036750005
230G72002
217X00005
230G74001
230G73001
12042
078400005
12041
230G71001
120710002
217X00004
230G30003
230G30004
230G30002
230G30001
078130001
B040750494
230G20002
B040500494
230GA0001

230GA0002

230G20000

217X00001

217Y00001

036750004
022400015
022200019

Thread take-up lever cover
Thread take-up lever assy
Thread take-up lever assy
Needle bar crank
Needle pitch knob
Feed regulator
F- regulator connecting rod
Feed regulator shaft
Connect pin
Needle bar
Needle DPX5 22#
Needle plate
Feed dog
Feed regulator unit
Level feed connecting rod
Eccentric wheel
Screw M5x5
Feed regulator
Level feed link
Feed rocker arm link
Link shaft
F-rocker arm stud
Screw M5x14
Feed rock arm
Feed regulator shaft arm
Eccentric pin
Solenoid lever shaft
Solenoid lever
Set collar
Hook stopper
Hook stopper
Fixed knife seat
Fixed knife seat
Lower thread finger
Screw SM3.57x40x5
Nut
Screw
Fixed knife
Fixed knife
Thread trimmer stopper base
Collar
Bobbin case assy
Bobbin
Rotary hook
Holder M-knife
Movable knife
Movable knife
Pump bush
Rotary hook shaft
Rotary hook shaft gear
Gear
Face plate thread guide
Screw M3.5x6
Arm thread guide
Screw M5x6
Detector unit (YI-D-17A)

Detector unit (YI-D-17D)

Detector unit (YI-D-17)

Detector unit (YI-D-16)

Detector unit (YI-D-16A)

Fastening screw
Screw
Screw 11/64x40x8

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
2
1
2
2
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

1

1

1

1

1
1
1

6730 Large hook
6760 Large hook

6730 Large hook（8 Needle pitch ）
6730 Large hook（8 Needle pitch ）
6730 Large hook（8 Needle pitch ）

6730 Large hook
6730 Large hook

6730 Large hook（8 Needle pitch ）
6730 Large hook（8 Needle pitch ）

6730 Large hook（8 Needle pitch ）
6730 Large hook（8 Needle pitch ）
6730 Large hook（8 Needle pitch ）

6730 Large hook（8 Needle pitch ）

6730 Large hook（8 Needle pitch ）

6730 Large hook
6760 Large hook
6730 Large hook
6760 Large hook

6730 Large hook
6760 Large hook

6730 Large hook
6760 Large hook

6730B-BD3 (Cramping + integrated
mercury sew, safety switches)
6730B-BD3 (Cramping + touch back tack
switch + mechanical safety switches)
6730BD3 (Sweep line + switch + touch
back tack mechanical safety switches)
6760BD3 (Sweep line + switch + touch
back tack mechanical safety switches)
6760BD3-J (Cramping + touch back tack
switch + mechanical safety switches)


